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QUESTION 1
Which of the following is a description of the UltraPath multipath setting? (Multiple answers)
A. The mode of operation of the array can be in-controller load balancing or inter-controller load balancing.

B. Load Balancing Mode Including wheel training algorithm, the maximum queue depth algorithm, the maximum
workload algorithm.

C. After the connection is interrupted between the LUN home controller and the host, the host accesses the LUN
through the peer controller. In this case, the over-trail software defaults the switched home controller of the LUN to the
remote controller.

D. When multipath detects a preferred controller failure recovery, the | / O is resumed immediately at the preferred
controller by default.

Correct Answer: AC

QUESTION 2

In deploying a backup network, in order to guarantee the best performance that can be brought to the iSCSI network,
which the following statements are correct (multiple choice)

A. try to deploy the backup network in the LAN
B. On the switch, divide the backup network into separate VLANsS
C. try to avoid the backup network via the routing transmission

D. GE bandwidth has often been the performance bottleneck backup performance, consider the use of network card
binding to increase the backup network bandwidth

Correct Answer. ABCD

QUESTION 3

NTFS (new technology file system) is a windwos NT environment file system, on the NTFS file system, which of the
following arguments is not correct?

A. NFS design ideas include stability, security, support for large-capacity storage devices
B. NTFS will all the data is a file, the file system metadata is also stored as ordinary files

C. Each directory and file attribute information is included in the MFT, MFT records the name of the file and directory,
size, data storage location information

D. NTFS file space allocation unit is the sector, the default is 512 bytes

Correct Answer: D
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QUESTION 4

Oracle database normally starts the opening state of the process. Which files must it read? (Multiple choice.)
A. Parameter file

B. Control Documents

C. Archive log file D. Data files

Correct Answer: ABD

QUESTION 5
Which of the following feature is correct about the OceanStor V3 volume mirroring? (Multiple choice.)

A. After creating a mirrored volume for a normal LUN, the server read-write 10 results in a change as a result of internal
information exchange.

B. The amount of data actually stored on a LUN is 2G, the total copy of the data is 4G. A volume image is created for
the LUN, the LUN is mirrored when the copy is generated during system creation.

C. You can configure a volume mirror for external LUNs or configure external LUNSs as mirror copies.
D. When configuring volume mirroring, mirror copies are required from different disk domains.

Correct Answer: CD
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